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Candidates must write the Q.P. Code on 
the title page of the answer-book. 

 Series AQ@QA Q.P. Code
>     

Roll No. 

qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 7 \¥²y¾ h²¾ & 
\of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc \tgqWHp 
Yy `t§I \¥²y¾ E\c qdIV & 
qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 14 \of²¾ h²¾ & 
qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qeM \of²¾ Yp n`p£H 
(grqcAd ²¥¾^c) kcvc qd§I} & 
qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc geycy 
10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ \§Wc ²¥¾v 
\mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs qdIVJy & 
Please check that this question paper contains 7 printed pages. 
Q.P. Code given on the right hand side of the question paper should be written 
on the title page of the answer-book by the candidate. 
Please check that this question paper contains 14 questions. 
Please write down the serial number of the question in the 
answer-book before attempting it. 
15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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:

(i) 14 

(ii)

(iii) 6 1 W~ 6
2

(iv) 4 7 W~ 10
3

(v) 4 11 W~ 14
4

(vi)

I¥T H 

6 2 

1. (a) hyS¾ qYWr A¥HJqVqWH dmr (AP) Yy \Yp£ Yr qJVWr \Wp
Hc} : 2

., 203 

Op£ 

(b) Eg A¥HJqVqWH dmr Yy \qhdy 20 \Yp£ Yp O}m \Wp Hc}
qOgYp nep£ \Y an = 5  3n cphs qYWp qJAp h± & 2 
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2. Y}KpWr g`rHcV 9x2  6 2 x + 2 = 0 Yy `vd \Wp Hc} & 2 

3. 18 g±.`r.  22 g±.`r.   6 g±.`r. _tOpep£ epdy ZpW Yp qBH S}¾g
K²¾p_ (cuboidal) ²¥¾v q\Kdp Hy 3 g±.`r. qeApg epdrAp£
qHW²¾rAp£ J}dpHpc J}drAp£ ^VpBrAp£ Op gHYrAp£ h²¾ ? 2 

4. hyS¾ qYWr e¥T Yp ^htdH (mode) 24 h± AWy gpcrAp£ ^pc¥̂ pcWpep£
Yp O}m 50 h± & dt\W ^pc¥̂ pcWpep£ x AWy y Yy `p²¾ \Wp Hc} : 2 

0  10 4 

10  20 x 

20  30 20 

30  40 y 

40  50 6 

5. Y} g`HzYcr M§Hcp£ qeM, e§Ty M§Hc Yr qBH eWc (Orep), qOgYr
d¥̂ pBr 48 g±.`r. h±, N}Ry M§Hc Yr g\cf cyIp h± & OyHc N}Ry
M§Hc Yp AcZ qeApg 7 g±.`r. h±, Wp£ e§Ty M§Hc Yp AcZ
qeApg \Wp Hc} & 2

6. (a) Y} dJpWpc qef` (odd) Z²¾ \vcV A¥Hp£ Yp JtV²¾³d 255

h± & qBH Y}KpWr g`rHcV ^VpHy qBh \vcVA¥H \Wp Hc} & 2 

Op£ 

(b) k Yy Eh `p²¾ \Wp Hc} qOgYy dBr Y}KpWr g`rHcV
(k + 3) x2 + kx + 1 = 0 Yy Y} `vd epgWqeH AWy ^cp^c¾
h²¾ & 2
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I¥T I 

4 3 

7. 4 g±.`r. AcZ qeApg Yy qBH M§Hc Yy HzYc O W~ 7 g±.`r. Yr

Yvcr E\c gqXW qBH q^¥Yv P W~ qIMrAp£ OpV epdrAp£ Y} g\cf

cyIpep£ Yr cM²¾p Yy \Y qdI} & 3 

8. (a) g`v¥Yc W§d W~ 60 `r. E¨My qBH Mp²¾V `t²¾pcy (dpqBR

hpFg) Yy qgIc W~ YyIV Wy Y} g t̀¥Ycr OhpOp£ Yy ²¾repV 

H}V (angles of depression) 45  AWy 60  h²¾ & OyHc Mp²¾V

`t²¾pcy Yy qBH hr \pgy Y}ez OhpO qBH YvOy Yy A§Jy q\Ny h²¾,

Wp£ Y} OhpOp£ Yy qeMdr Yvcr \Wp Hc} & [ 3  = 1·732 de} ] 3

Op£ 

(b) 1·6 `r. d¥̂ p qBH dmHp, O} qH qBH q^Odr Yy I¥_y W~

3 `r. Yvcr Wy Imp h±, ZcWr Wy 4 `r. d¥^r \cNpBr ^Vp£Yp

h±, Wp£ q^Odr Yy I¥_y Yr EMpBr \Wp Hc} & 3 
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9. hyS¾ qY§Wr ^pc¥̂ pcWp e¥T 50 ^r`p \pqdgr ZpcHp£ Yy E`c Yy
A¥Hmy Ycgp£Yr h± & `pqZAH¾ (median) E`c \Wp Hc}, OyHc
\pqdgr qgc³ E²¾ªp£ qeAHWrAp£ ²¥¾v qY§Wr Op£Yr h±, qO²¾ªp£ Yr E`c
18 gpd Op£ Eg W~ eZycy h}By, \c 60 gpd W~ KR h}ey & 3 

20 W~ KR 1 

30 W~ KR 12 

40 W~ KR 39 

50 W~ KR 46 

60 W~ KR 50 

10. hyS¾ qY§Wr gpcVr qHgy `t§hdy Yy 50 \qcepcp£ Yy IpV-\rV E\c
h}By c}kp²¾p£ IcM ²¥¾v Ycgp£Yr h± & `§Z`p²¾ (mean) c}kp²¾p£ IcM
\Wp Hc} & 3 

200  250 8 

250  300 10 

300  350 12 

350  400 10 

400  450 10 
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I¥T J 
4 4 

11. (a) OyHc Y} M§Hc Ap\} qeM ^phc g\cf HcYy h²¾, Wp£ qg§Z
Hc} qH g\cf q^¥Yv, M§Hcp£ Yy HzYcp£ ²¥¾v q`dpV epdr cyIp 
E\c gqXW h± & 4 

Op£ 
(b) qg§Z Hc} qH qBH ^phcr q ¥̂Yv W~ M§Hc E\c qIMrAp£ JBrAp£

Y} g\cf cyIpep£ YrAp£ d¥̂ pBrAp£ ^cp^c ht¥YrAp£ h²¾ & 4 

12. \Zcr ZcWr E\c gqXW qBH q ¥̂Yv W~ EZepZc Imr `r²¾pc Yy

qgIc Yp EMpV H}V  qBg Wcp£ YyqIAp qJAp qH tan  =
12
5

h± & `r²¾pc Yy ed 192 `r. Yr Yvcr MdV Wy ^Vp EMpV H}V 

qBg \oHpc \pqBAp qJAp qH tan  = 
4
3  h± & `r²¾pc Yr EMpBr 

\Wp Hc} & 4 
\oHcV AqZA±²¾  1 

13. `Hp²¾ Op£ Hpc ecJr `qh¥Jr Mrk IcrYV Yy dBr qBH `§Z ecJr
qeAHWr Yy dBr ^|H W~ HcO d± Hy Eg²¥¾v Agp²¾ qHfWp£ E\c
qeApO g`yW MtHpVp Apgp²¾ h} Op£Yp h± &
A`²¾ qBH Hpc IcrYV Yy dBr ^|H W~ < 2,36,000 Yp HcO d|Yp
h± AWy `pqgH qHfWp£ qeM MtHpVp ftcv HcYp h± & Eh < 2,000

Yr \qhdr qHfW MtHpE¤Yp h± AWy qBg W~ q\N~ hc `hr²y¾ qHfW
qeM < 500 epZp HcYp h± &
(a) \Wp Hc} qH Eh 25es qHfW qeM qHW²¾r cH` MtHpE¤Yp

h± & 2 

(b) \Wp Hc} Eh \qhdrAp£ 25 qHfWp£ qeM Htd qHW²¾r cH`
MtHpE¤Yp h± & 2 
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\oHcV AqZA±²¾  2 

14. f¥HvApHpc ApZpc epdy R|H, qOgYy E\c qBH Eg hr qeApg Yp
^yd²¾ (qgd¥Tc) O}qmAp Op£Yp h±, EYa}J qeM ^htW dp_ye¥Y ht¥Yy
h²¾, Ipg W¡c Wy, qOXy R|H qeM~ HUr JBr hc qBH v̂¥Y er ^htW
`hWWp cIYr h± &

qeHpg ²y¾ qBH f¥HvApHpc ApZpc epdp R|H ^VpqBAp qO§Xy
f¥HvApHpc _pJ Yr EMpBr EgYy AcZ qeApg Yy ^cp^c h± AWy
^yd²¾pHpc _pJ Yr EMpBr EgYy AcZ qeApg W~ YtJVr h± & R|H
E\c W~ ¥̂Y h± &

(a) OyHc ^yd²¾pHpc _pJ Yp AcZ qeApg 3 `r. h±, Wp£ R|H Yp
ApqBW²¾ (KV³d) \Wp Hc} & 2 

(b) ^yd²¾pHpc _pJ Yy ApqBW²¾ Yp f¥HvApHpc _pJ Yy ApqBW²¾
W~ A²¾®\pW \Wp Hc} & 2




